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Vocabulary: 20%
Choose the most appropriate word according to the given context, and then write its corresponding letter

on your answer sheet.

To  economic development, the country had to make itselt internationally acknowledged to help sell its
products all over the world.
(A)expedite (B)export (C)explode (D) excess
. Countries that want to join the euro must show they can control and keep budget deficits below 3 percent
of annual economic output and government debt below 60 percent.
(A)investment  (B)inflation (C)invasion (D) intern
. Gobo Group President Chu Guo-rong was summoned on Wednesday on chargesof __the Securities and
Fxchange Act.
(Ayvivid  (Byvital (C)violating (D) vocalizing
. Yahoo is hoping to off most of'its technology patents as part of a purge that also could culminate in the
sale of its internet operations.
(A) action (B)arson (C)audition (D)auction
. The premier has transport officials to look into relieving existing bottleneck conditions.
(A)insured (B)struggled (C)situation (D) instructed
. We must come together to  the fascist threat to our democracy presented by Donald Trump.
(A)confine  (B)confuse (C)confront (D) conflict
. The government will concentrate its efforts to assist businessmen overcome their current
(A)destruction  (B)observe (C) obstacles (D) survive
. Yahoo hasn't a timetable for deciding to sell or not. Many analysts expect the choice to be made by the
company's annual shareholder meeting.
(Aydone (B)set (C)ymake (D) prepare
. President Tsai Ing-wen acknowledged the of'a 1992 meeting that brought about a "joint
acknowledgement and understanding across the Taiwan Strait” in her inauguration speech Friday.
(A)excellent (B)existence (C)exact (D) exhibition
0. Prosecutors said  indicated the actions of both groups had severely impacted the healthy

functioning of the financial market.

(A)evidence (B)education (C)effect (D)election
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iL Grammar. 20%

In questions 1-10, each sentence has four underlined words or phrases marked (A), (B).(C), and (D). You are to

identify the one that should be corrected and then write its corresponding letter on vour answer sheet.

For example: Many water is needed for people living in dry area.
A B C D

The best answer is (A)

L. Tlook forward to meeting with her in the near future to see how can we work together to defeat Donald

A B C
Trump and to create a government which represents all of us and not just the 1 percent.
D
2. Tsai, 59, began her four-years term as president after an inaugural ceremony at the Presidential Office
A B
during which the national anthem was sung.
C D
- The Queen Elizabeth I turned 90 in April 21, but British monarchs also have an official birthday
A B C
celebration nearer the summer to make the most of the warmer weather in a tradition going back 250 years.
D
4. Many think the country was not economical ready to join the euro when it did so in 2001, and people
A B
there have suffered under high unemployment, higher taxes and government cutbacks.
C D
5. Transport Minister Ho, which characterized the holiday traffic issue as a three-part exam including
A B
accident rate, off-peak volume and public transit’s role in reducing reliance on freeway usage, stated he
C
had “passed” half the exam thus far.

D

6. In a ruling sure to stoke the gun debate in the United States, a federal appeals court on Thursday said

A

B

Americans have no constitutional right to carrying concealed weapons in public.

C D
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7. There are more than 8,000 telecoms cheaters_operating from other countries, of whom at least
A B C

three-fourth are Tatwanese.

D

A B
there can reach 199 degrees, the boiling point for water at the park's high elevation.
C D

9. Obama’s endorsement, although long expecting, is a shot in the arm for the Clinton campaign.
A B C D

10. Born blind, Juan Pablo Culasso had never saw a bird, but through his gifted sense of hearing, he can
A B C D

identify more than 3,000 different bird sounds and differentiate more than 720 species.

1. Cloze Test: 30%
In the following passages, there are fifteen blanks where words or phrases are left out. For each blank, there are
four choices marked (A), (B), (C), and (D). One of the choices best fits the blanks. Choose the best answer and

write its corresponding letter on the answer sheet.

A.

Memory is the brain’s ability to store and retrieve information __1__ previous experiences. Memory

2 intwo stages: short-term and long-term. Short-term memory_ 3 an immediate sensory perception
of an object or idea that happens before the image is stored. Short-term memory enable you 4 a
telephone after looking it up but without looking at the number directly. 5, it becomes stored in
long-term memory and can be recalled several weeks. __6__the information is processed further, it is
quickly forgotten. Short-term memory and long-term memory can be thought of as memory structures, each

varyingasto 7

1.(A)relate  (B)relatedto  (C) relating with (D) relate to with
2. (A)yoccur  (B)occurs (C)occurring (D) occurred

3. (A)reflects  (B)isreflecting  (C)reflected (D) have reflected
4. (Aydial (B)dialing (C)todial (D) dialed
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5.(A) When you call the number frequent  (B) Calling the number you frequent

# @ 3 # ® # B
X

(C) Called the number frequently you (D) If you call the number frequently
6. (A) Although (B) While (C) When (D) Unless

7. (A) how many information can it hold (B) what can information it hold
(C) how much information it can hold (D) whatever information can it hold
B.

It is increasing common for multinational businesses__8__employees on international assignments,
9 without the right cross-cultural skills, staff will often struggle. Wayne Mullen, Head of Learning and
Development at Standard Bank, discusses the impact __10__employees relocating to another country.
_11__, employees must understand the host-country culture, he argues. Colleagues __12__ different

countries might share similar professional knowledge and skills within a single international organization.

8. (A)tosend (B)sending (C)given (D)to giving
9.(Ayand (B)but (Cyor (D)aswellas

10. (A) whose cultural challenges can have in ~ (B) cultural challenges can have to

(C) that cultural challenges can have on (D) cultural challenges can had at
11. (A) To be successful transferred (B) To being transfer successful
(C) In order to be transferred successiul (D) In order to be successfully transferred

12.(A)to (B)in (C)on (D) from
13.(A) When (B)Although (C) However (D) Since
14. (A) being complete different (B) to be completely different
(C) be different complete (D) to be different complete
15. (A) which need to be understood and appreciated  (B) which needs to be understood and appreciate

(C) which needs to be understood and appreciating (D) which need to be understand and appreciated

IV. Composition: 30%

Please write a three-paragraph English composition on the topic: “The Differences between Your
Generation and Your Parents’ Generation” in 250 words or 0.
Your composition must contain an intreductory paragraph, one or two body paragraphs, and a

concluding paragraph. Use specific reasons and examples to support your opinions.
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